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EXr—o5X% FrL2ZAUSR
Pos | I>NS5> M4 | Rdl Rd2 Rd3 Rd4 Rd5 | Total Pos | I>NS5>BM4 | Rdl Rd2 Rd3 Rd4 Rd5 Total
1 |HD~ 20 20 20 60 1 |R #%F 20 10 15 45
2 |{PEAH 12 10 12 34 2 |S.F 12 8 20 40
3 |tZFKER X2 8 15 8 31 3 |2z 20 20
4 |[nctH 6 10 16 4 [moEF 15 15
5 [HMRKER 15 15 5 |/RX bk 15 15
6 |maasa 15 15 6 |LLIUT 6 8 14|
7 |&bn 12 12 7 |32 Ry 12 12|
8 [V #H 10 10 8 |[+% 12 12
9 [UwA 8 8 9 |AiIHE #E 10 10
10 &R —F& 6 6 10 |#5K 8T 10 10
11 [(F>—A 6 6 11 |KAU— 8 8
12 0 12 |fEEHZE 6 6
13 0 13 |/INEF Esk 6 6
14 0 FvL>ZhH~CARTS R
15 0 Pos | I>bF5> b4 | Rdl Rd2 Rd3 Rd4 Rd5 | Total
0 1 [PESA 20 20 20 60
0 2 | #& S @inpactblue 12 12 10 34
0 3 |SUMIO 15 15 30
4 [SEA 10 15 25
5 |[DABRA 12 12|
K-CARIUSX 6 0
Pos | I>h5> M4 | Rdl Rd2 Rd3 Rd4 Rd5 | Total 7 0
1 [rene 15 20 35 8 0
2 [[FhE 20 12 32 9 0
3 |K 10 20 30
4 |IMDi 12 8 10 30 ZRILAOS R
5 |depa 15 15 30 Pos | I>h5> M4 | Rdl Rd2 Rd3 Rd4 Rd5 | Total
6 |aqu 6 10 6 22| 1 |B6<%& 15 20 12 47
7 |[<FEW 8 12 20 2 |SS 15 20 35
8 |IERE Y— 8 8 3 |[FrEA 12 15 27
9 |fzho 6 6 4 [/\AEEX 10 10 20
10 0 5 |/NEF s 20 20
11 0 6 |[LWwbwnElLus 12 12
12 7 | B 10 10
13 8 |HIl & 8 8
14 9 |@ = 8 8
15 10 |HEE 8 8
11 [{2AARA 6 6
12 [BEH EiE 6 6
=ZRIL BOSX 13 |HEELLDE 6 6
Pos | I>hS> M Rd1 Rd2 Rd3 Rd4 Rd5 Total 14
1 (4t B 12 20 32 15
2 |kHE =R 10 8 12 30
3 |&BTES 8 12 8 28
4 |hiro 15 10 25 IFX/)=hk
5 |Eh@fFIR 20 20 Pos | I>bF5> b4 | Rdl Rd2 Rd3 Rd4 Rd5 | Total
6 |BEAT A 20 20 1 (WA= 12 12 20 44
7 |FEHE 15 15] 2 |Fyv— 6 15 21
8 |EF AT 15 15 3 [O0THEBrA 20 20
9 |=VHIL 10 10 4 |[BAZD 20 20
10 /b 2%L 6 6 5 |miya 10 8 18
11 |1L5E KIARB 6 6 6 |D><KAVIICPA 8 10 18|
12 |53 6 6 7 |TaRP 15 15
13 0 8 |95 OF XA 15 15
14 0 9 |EAABRA 12 12
15 0 10 [(KEN 10 10|
11 (B &E— 8 8
12 | A9y > F— 6 6
13 |HE f@— 6 6
14 0
15 0




